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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Yá˚] Yy ( 5th Paper : Rural and Urban Sociology ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) Y“ÁªJÙ›X \ˆÁÃ[˝„TˆÃ[˝ C ]W˝Ó^«G›Ã^ \ˆÁÃ[˝„TˆÃ[˝ XGÃ[˝ÁÃ^„SÃ[˝ 

È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* DY◊X„[˝◊`Eı ^«„G 

XGÃ[˝ÁÃ^„SÃ[˝ Â^ XT«ˆX ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓ ÂVFÁ ^ÁÃ^ —

Âam◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (F) `c˜„Ã[˝Ã[˝ ◊[˝EıÁ„`Ã[˝ Âl˘‰y [˝ w¯Eı_Á ]Tˆ[˝Á„VÃ[˝ %[˝VÁX 

a]Á„_ÁªJÙXÁac˜ ◊[˝‰`¿bS EıÃ[˝”X* 

 (G) \ˆÁÃ[˝„TˆÃ[˝ `c˜„Ã[˝ `“◊]Eı Ê`“◊SÃ[˝ %Á◊[˝\ˆ¤Á„[˝Ã[˝ LXÓ ◊ªJÙ◊c˜‘Tˆ 

EıÁÃ[˝Sm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* `ß„Ã[˝ `“◊]Eı Ê`“◊SÃ[˝ 

ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_C [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) `c˜Ã[˝ A[˝e XG„Ã[˝Ã[˝ EıTˆ W˝Ã[˝„XÃ[˝ Ê`“◊S◊[˝\ˆÁG c˜„Tˆ  

YÁ„Ã[˝ ? XGÃ[˝ a]ÁLTˆÁ◊√º¯Eı„VÃ[˝ %◊\ˆ]Tˆ %X«aÃ[˝S Eı„Ã[˝ 

[˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O Y“a„Ü %ÁW˝«◊XEı `c˜„Ã[˝Ã[˝ ◊[˝EıÁ` 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) XGÃ[˝ÁÃ^S a+„EÔı _«c˜Oa CÃ^Á„UÔÃ[˝ (Louis Wirth) 

Tˆ√º¯◊ªRÙO ◊[˝‰`¿bS EıÃ[˝”X* 

(F) G–Á]Áá˚„_Ã[˝ XGÃ[˝ÁÃ^S (Rurbanization) ◊[˝b„Ã^ 

\ˆÁÃ[˝Tˆ›Ã^ a]ÁLTˆÁ◊√º¯Eı Ã[˝ÁW˝ÁEı]_ ]«„FÁYÁW˝ÓÁ„Ã^Ã[˝ Tˆ√º¯ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) T ˆTˆ›Ã^ ◊[˝„`üÃ[˝ ÂV`m◊_„Tˆ XGÃ[˝ÁÃ^„SÃ[˝ G◊TˆY“E ı◊Tˆ 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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(H) XGÃ[˝ÁÃ^„SÃ[˝ Zı„_ =‡«ˆTˆ a]aÓÁm◊_ ◊Eı ? Ac˜O a]aÓÁ 

a]ÁW˝Á„XÃ[˝ =YÁÃ^m◊_Ã[˝ ◊[˝b„Ã^ %Á„_ÁEıYÁTˆ EıÃ[˝”X* 

(I¯) [˝ß„Eı◊≥V–Eı ]Tˆ[˝Á„VÃ[˝ Y“[˝N˛Á„VÃ[˝ XÁ] =‰{F EıÃ[˝”X 

A[˝e Ac˜O ]Tˆ[˝Á„VÃ[˝ ]…_ ◊[˝bÃ^◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªªJÙ˜) ÿëˆÁW˝›X \ˆÁÃ[˝„Tˆ LÁ◊Tˆ◊\ˆ◊w¯Eı G–Á]›S %UÔX›◊Tˆ ◊[˝b„Ã^ 

◊[˝‰`¿bS C ]…_ÓÁÃ^X EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) XGÃ[˝L›[˝„XÃ[˝ Âl˘‰y [˝Áÿô«ˆTˆÁ◊‹óˆEı Tˆ„√º¯Ã[˝ mÃ[˝”±ºˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) ]W˝Ó◊[˝w¯ Ê`“◊SÃ[˝ ◊[˝◊\ˆ~ W˝Ã[˝Xm◊_ ◊Eı ◊Eı ? 

(G) `c˜„Ã[˝Ã[˝ %Á◊W˝YTˆÓ a+„EÔı a]ÁLTˆÁ◊√º¯„EıÃ[˝Á ◊Eı 

[˝„_‰ªK˜X ? 

(H) ÂYÏÃ[˝Y«t, ÂYÏÃ[˝]c˜ÁY«t C ]c˜ÁXG„Ã[˝Ã[˝ ]„W˝Ó ◊Eı\ˆÁ„[˝ 

YÁUÔEıÓ ◊X„V¤` EıÃ[˝„[˝X ? 

(I¯) XGÃ[˝„Eı◊≥V–Eı aÁ]Á◊LEı %Á„≥VÁ_„XÃ[˝ aep˚Á Y“VÁX 

EıÃ[˝”X* 

(ªJÙ) %ÁW˝«◊XEı a]Á„L Y◊Ã[˝[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁÃ^ ◊Eı Y◊Ã[˝[˝Tˆ¤X ÂVFÁ 

ÂG‰ªK˜ ? 

(ªK˜) G–Á]›S ÿëˆÃ^ea+…SÔTˆÁ ◊[˝bÃ^Eı ◊[˝TˆEÔı◊ªRÙO =‰{F EıÃ[˝”X* 

(L) ÂL_Á Y◊Ã[˝b„VÃ[˝ EıÁ^ÔÁ[˝◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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English Version 
 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the features of ancient Indian and 

medieval India's urbanization. What types 

of new features had been observed in 

colonial India ? Explain. 

(b) Critically explicate the contribution of 

sector theory to the development of modern 

city. 

(c) Point out the causes responsible for the 

emergence of working class in Indian city. 

Analyse also the characteristics of working 

class. 

(d) Mention the typologies of city and town 

following the views of urban sociologists. 

Explain also the development of modern 

city in this context. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Analyse the theory of Louis Wirth on 

urbanization. 

(b) Give an account of Radhakamal Mukerjee's 

view on Rurbanization. 

(c) Discuss the nature and trend of 

urbanization in third world countries. 

(d) Point out what types of problems emerged 

due to urbanization. What are its means of 

solution ? 

(e) Who are the exponent of Multi-Nuclei 

theory ? Discuss the main tenets of this 

theory. 

(f) Examine critically the role of caste-based 

village economy in India in post-

independent period. 
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3. Answer any four questions  : 6 × 4 = 24 

(a) Explicate the significance of ecological 

theory in urban life. 

(b) What are the different typologies of middle 

class ? 

(c) Mention the sociological view on dominance 

of the city. 

(d) What are the differences between 

conurbation, megalopolis and metropolitan 

city ? 

(e) Define urban-social movement. 

(f) Mention the changes observed recently in 

Indian family system. 

(g) Write a short note on the debate on self-

sufficiency of village in India. 

(h) Discuss, in brief, the activities of Zilla 

Parishad. 

    


